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To use this maze activity you will need 
to make a copy of  the maze for each 
student.  Students will complete the 
problems on a separate piece of  paper 
or a small whiteboard.  After they 
complete each question they will look 
for the path that has the correct answer 
on it.  They will then move through that 
arrow to the next question.  They will 
keep doing this from the start space to 
the finish space.  If  they make a mistake 
they will have to go back to the mistake 
and continue from there.  

• Use the maze in a dry-erase sleeve 
or page protector to save paper.
•Have students race against each 
other or against their best time.
•Students can use a highlighter to 
show their path.

https://www.teacherspayteachers.com/Product/Middle-School-Math-Activities-2712267
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Students will cut the pieces out and mix 
them up and then try to put them back 
together.  An answer key is included and 
the uncut puzzle can serve as an 
answer key.  If  the puzzle is put together 
correctly then the characters will be 
back in the same order as the uncut 
version.  There are 12 problems with 
solutions and solutions that will not be 
used around the outside edge.  Don’t 
give students the answer key until after 
they are finished.

-If  students are struggling tell them 
which piece is in the middle.
-The same puzzle can be used more 
than once.
-Students can work in partners to figure 
out the puzzle.
-This is great for a math center.

https://www.teacherspayteachers.com/Product/Integers-Activity-and-Games-Pack-2278712
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Instructions: Cut pieces into 9 squares.  Mix-up 
squares.  Match expressions to simplified 
expressions.  Check against
answer sheet.
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The game is a variation on tic tac 
toe.  Instead of  3 in a row, 
students have to get 5 in a row.  
They take turns choosing a box 
and completing the problem in the 
box.  Their partner also does the 
same work to check the answer.  
If  they get it correct then they 
mark that box with their symbol 
until someone gets 5 in a row.  
One player is x’s and the other is 
o’s.

•Have students use a dry-erase 
sleeve to play multiply times on 
the same paper.
• Have students show their work 
on a separate piece of  paper.

https://www.teacherspayteachers.com/Product/Distributive-Property-Activity-and-Game-for-6th-grade-7th-grade-and-8th-grade-2072317
https://www.teacherspayteachers.com/Product/Solving-Proportions-Game-2250652
https://www.teacherspayteachers.com/Product/Scientific-Notation-Activity-Tic-Tac-Toe-1963323
https://www.teacherspayteachers.com/Product/Square-Root-and-Cube-Root-Game-Tic-Tac-Toe-1905152
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How to Play:  You need one Tic Tac Toe sheet per pair of people.  Each person chooses a symbol to represent them (an X, an O, a star, a heart, 
etc.).   Players take turns choosing an expression to factor and if they factor it correctly they get that box and they put their symbol in it.  Both 
players factor the expression to make sure that the answer is correct.  Each player is trying to get 5 of their symbol in a row like traditional Tic Tac 
Toe.   
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How to Play:  You need one Tic Tac Toe sheet per pair of people.  Each person chooses a symbol to represent them (an X, an O, a star, a heart, 
etc.).   Players take turns choosing an expression to factor and if they factor it correctly they get that box and they put their symbol in it.  Both 
players factor the expression to make sure that the answer is correct.  Each player is trying to get 5 of their symbol in a row like traditional Tic Tac 
Toe.   



These cards are designed to play a game  
with QR Codes.  In this game a group of  2 to 3 
students each get a set of  cards, cut the 
cards up, and place them in a can, a small 
bucket, a bowl, etc.  When the time starts 
each player takes a question and works 
through it on their student record sheet.  
When they finish a problem they check it(with 
the QR code or with an answer sheet) .  If  
they are right they keep the card, if  they are 
incorrect they put the card back into the can.  
The object of  the game is to see who has the 
most cards at the end of  the game.  You keep 
playing until all of  the cards have been won .  
You can also play by counting the points on 
the cards as well.

-You could have partners work together 
instead of  against each other.  
-These cards could also be used like task 
cards.

https://www.teacherspayteachers.com/Product/Proportional-Relationships-Game-2937394
https://www.teacherspayteachers.com/Product/Solving-Multi-Step-Equations-QR-Code-Game-2602377
https://www.teacherspayteachers.com/Product/Compound-Probability-Game-2428130
https://www.teacherspayteachers.com/Product/Volume-Activity-with-Triangular-and-Rectangular-Prisms-2370338
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In this paper chain activity students will be 
given 5 problems to work through.  When they 
finish a problem they will find the answer to 
that problem on another piece of  the chain 
and they will connect the answer piece to the 
problem piece and then they will complete 
the next problem.  They will repeat this 
process from the start piece to the end piece 
in the chain.  There is some part of  the 
answer that is missing that the students will 
have to add to make the answer complete.

• This is a great partner activity.
•Have students show their work on a separate 
piece of  paper.
•Do multiple paper chain activities and keep 
adding to the chains through the year.
•Have students check their work with the 
teacher before pasting

https://www.teacherspayteachers.com/Product/Combining-Like-Terms-Activity-Pack-1907836


3x + 4 – x + 5

x - 3

4x + 9

7x - 2

2x + 9

-4x -7

13 – 3x + 7x - 4

- x + 5x – 2 + 3x

-8 + 1 + x - 5x 

6x + 5x - 10x -3



3x + 4 – x + 5

x - 3

4x + 9

7x - 2

2x + 9

-4x -7

13 – 3x + 7x - 4

- x + 5x – 2 + 3x

-8 + 1 + x - 5x 

6x + 5x - 10x -3


	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16
	Slide Number 17

